Problem 5.54

Given the capacitors in Figure 5.54 are C1=2.0uF with a tolerance of 2% and C2=2.0uF with a tolerance of 20%, find

a) the nominal value of CEQ

b) the minimum and maximum possible values of CEQ

c) the percent errors of the minimum and maximum values
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Figure P5.54


Suggested Solution
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 The nominal value is

 The minimum value of CEQ is

  The maximum value of CEQ is
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 The percent irror of the minimum value 

is

  The percent irror of the maximum value

 is


_1054412675.bin

_1054391058.unknown

